1. LEA4
THE4 RN E B2 A B R ik s T
T H4 18 RAR S T A6 R e S
2. LHEHNE
1)  FHEI4 EHFNEEEEET B R
2) £ I f R T3
3) L # 183 H ¥ H & 64 9H20H
ER SFn T4 3H21H
4) T EAE

Etrmey R R



TH4 | BHARIEEZ LS

THERXSy - L - @3 B AL & #A gk a1l % iR
B (Hes HAR) = 29, 500, 000
I E AR = 29, 500, 000
[ e = 29, 500, 000 | & EZ 25 EAR
s BB (— AR EIRE A - REEMEEIE ) -
o T YRS T
R LR = 29, 500, 000
B = 918, 253
TR ERAR T Y 790, 253
[ e = 512,982 | & T2 48 SR AR R ik
T ITTL—r 7 L —25t BE AT
T Y 277,271 %E%px%
;R U— b, BKfiffar sV —FEETe
B —= A
Wik 7 U — ME
TR ALy
a7 ) — ik,
T35 B g% = 128, 000
BT = 128,000 |k (FBR)
ERE T = 918, 253
Il R = 74, 268
BT e = 1,268
Bl g = 1,268 |ERBEREESHENT -4 1ERE

HEAEE TR



A R

TH4 | EHRIEEZ AR E T

THXSy - T - flj Bz ¥ & & # bl 2 R

ol (RE L) = 1 73, 000
Wi TR =X 1 992, 521
B =X 1 384, 000
By =X 1 3, 824, 000
Pl 2 = 1 40, 000
BeanE Ay = 1 3, 784, 000
TRl =X 1 5, 200, 521
—REEEE =X 1 1, 189, 479
T Fefffi ks =X 1 35, 890, 000

|

[\
|

H

trziEE TR R




